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Balancing the need to use resources
and also conserve them for the

future is called :

(A) Sustainable development

(B) Resource conservation

(C) Resource development

(D) Human resource development

Amount of insolation received by
different parts of the Earth depends

on :

(1) The angle of incidence of sun;s
rays.

(2) Latitudinal position of a place.

(3) Duration of the daytime.

Codes :

(A) 2 only

(B) 3 only

(C) 1, 2 and 3

(D) 1 and 2

TBC : AKG-AP(CC)GEOG.-2018—A
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Which of the statements are not

correct ?

(1) Westerlies and Polar winds are
permanent winds that blow

throughout the year.

(2) Winds blowing from subtropical
high pressure belt to sub-polar
low pressure belt are called

Trade wind.

(3) The Westerlies blow from sub-
tropical high pressure belts
towards equatorial low pressure

belt.

(4) The monsoons are the winds
which reverse their direction

with the change in season.
Codes :
(A) 1 only
(B) 2 only
(C) 2 and 3

D) 2, 3 and 4
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4.  Which of the following statements

is/are correct ?

(1) Pamir knot lies in the north -

India is often called the roof of

the world.

(2) Karakoram enters into Kashmir
and runs south-west as the

Kailash range in Tibet.

(3) The Baltoro and §iachin_ are

the important glaciers in

Himalayan range.
Codes :
(A) 1 and 2
(B) 2 only
(C) 3 only

(D) None of the above

TBC : AKG-AP(CC)GEOG.-2018—A

|

Which of the following statements

1s/are correct ?

(1) Brahmaputra is known as
Tsangpo in Tibet, which takes
a hairpin bend around Namcha

Barwa.

(2) Brahmaputra is known as
Dibang in Arunachal Pradesh

and Jamuna in Bangladesh.

(3) The Ganga and Brahmaputra
split into nu’merml.ls distributaries
in their middle courses. |

Codes :

(A) 1 and 2

(B) 2 and 3

(C) 3 only

(D) All .of the above
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6. Biosphere reserves are highly

protected areas to keep the plant and

8. If the movement of the earth’s crust

animal diversity intact. Consider the or a major climatic change makes

following aspects in this context :

() Prawssvation of genstic old stream young, it is called :
biodiversity.

(A) Consequent stream

(2) Research and demonstration. '

(3) Agricultural research and (B) Subsequent stream
experimentation.
The declaration of biosphere is (C) Aggradation

meant for which of the above
(D) Rejuvination

purpose ?
(A) 1 only .

_ 9.  Which of the following states has a
(B) 1 and 2 n
{65 & wnd B » : population growth less than the
D) 1, 2 and 3 ‘ : replacement rate ?

7. Kanha National Park belongs :
‘to which one of the follvowing (A) Kerala

biographical province ?
B) Andhra Pradesh
(A) Tropical humid forests (B) e s
(B) Warm semi-desert () arnatalks
(C) Tropical dry forest

(D) Tropical sub-humid forests (D) Tamil Nadu
TBC : AKG-AP(CC)GEOG.-2018—A 6
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(@)
()]
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(d)
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Match List-I with List-II and select
the correct answer from the codes

given below :

List-I © List-II
Loess . (1) River deposits
Morains (2) Glacial deposits
Gravels (3) Wind deposits
Silt (4) Maine deposits
Codes :

@ B @© @
a @GO @ @ O
@ & @ @ @
© @ @GO G, @
™ @ @ @O @

The river Godavari is often referred

to as Vridha Ganga because :

(A) It is the older river of India .

(B) Of its lérge size and extent

among Peninsular river

(C) There are a fairly large number
of pilgrimage centres situated
on its bank

(D) Itslengthis neaﬂy the same as
that of the river Ganges

TBC : AKG-AP(CC)GEOG.-2018—A
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12.

13.

Which of the following fact‘brs are
responsible for India’s failure to fully
exploit the inland fisheries during

the last five decades ?

() Silting and pollution of the

inland water bodies.

(IT) Deforestation in the catchment

areas of the rivers.
(I11) Lack of marketing facilities.

Select the correct answer from the

codes given below :
(A) I, IT and III
(B) I and II

(C) I and IIT

(D) IT and III

The watershed between India and

Myanmar is formed by :
(A) The Naga hills

(B) The Garo hills

(C) Khasi hills

(D) The Jaintia hills
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14. Which of the following groups of

15.

16.

i 8

rivers originate from the Himachal

mountain ?

(A) Beas, Ravi and Chenab

(B) Ravi, Chenab and Jhelum
(C) Satluj, Beas and Ravi

(D) Satluj, Ravi and Jhelum
Central place theory relates to :
(A) Size and spacing of settlements
(B) Size and rank of settlements
(C) Growth rate of settlements
(D) Secondary settlements
Western Ghats is an ‘example of :
(A) Intercontinental rifts

(B) Continental flood basalts

(C) Passive contir;ental margin

(D) Transform fault

Crescents of the barchans dunes

points toward :
(A) Downwind
(B) Upwind

(C) Acrosswind

(D) None of the above

TBC : AKG-AP(CC)GEOG.-2018—A

10

18.

19.

20.

e

Which type of clouds cause the

heaviest down pour ?

(A) Nimbo-Stratus

(B) Strato-Cumulus
(C) Cumulo-Nimbus
(D) Cirro-Stratus

The carbon dioxide theory of climate

change was advanced by :
(A) T.C. Chamberlin

(B) Authur Holmes

(C) S. Solbery

(D) J.J. Kinnelly

Which of the following cities is not
located in Varanasi-Chennai Rail

route ?

(A) Hyderabad
(B) Nagpur
(C) Jabalpur

(D) Allahabad
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21.

22.

What are “Global Cities” ?

(A) Cities with large proportion of

multi-national labour force

(B) Cities with total populafion

exceeding 20 million

(C) Cities with highest tourist
inflow
(D) Cities that control a

disproportionate amount of

global business and finance

The correct order of “economic
integration” among the following

five stages, is :
(I)
In

Free trade agreement
Preferential trade arrangement
(ITI) Common and single market
(IV) Economic union

V)

Custom union.

Select the correct answer from the

codes given below :
(a) I, 11, Y, IIL, IV
B) 11, I, V, III, IV
©) I, I1, 111, V, IV

@) IL, 1, IIL, V, IV

TBC : AKG-AP(CC)GEOG.-2018—A

12

23.

24.

25.

Which of the following is not a Stage
of ‘colonialism’ as propounded by

Slater ?

(A) Colonial penetration

(B) Colonial reformation

(C) Colonial organization

(D) Neo-colonial re-structuring
Urban sprawl can be defined as :

(A) Planned suburban development

of a city

(B) Unplanned suburban develop-

ment of a city
(C) Demographic growth of a city
(D) None of the above

Heartland theory was propounded
by :

(A) Affred Thayer Mayer
(B) Nicholas John Spykman

(C) Carl Ritter

(D) Halford Mackinder
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26.

217.

Squatter settlements are residential

developments on :

(A) Land owned by the occupants

(B) Land rented by the occupants

(C) Land nbt rented for owned by

the occupants

(D) Land allotted by government to

urban poor

The distinctive relationship between
population size of cities and their
rank with the overall urban

hierarchy is known as :

_(A) Primacy

(B) Centrality
(C) Rank-size rule

(D) World city network

TBC : AKG-AP(CC)GEOG.-2018—A

14

28.

29.

30.

The way that things spread through

space and over time is defined as :
(A) Spatial interaction

(B) Spatial diffusion

(C)- Spatial expaﬁsion

(D) None of the above

The law of primate city was proposed
by : |

(A) Isaiah Bowman

(B) Patrick Geddes-

(C) Charles C Colby

(D) Mark Jefferson

Counter urbanization denotes :

(A) Development of more cities and

towns

(B) Decreasing population of cities

and towns

(C) Deconcentration of population
from cities to smaller towns and

rural areas

(D) Rapidly increasing population

in small towns
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31.

(@)

®)

()

@

Match the items given in List-I with

items in List-II :

List-I List-II

G.T.Trewartha () Population
Geography

(1965)

W. Zelinsky (i1) A Geography
of Population :
World Pattern

(1969)

J. Beaujeu- (Zit) A Prologue to

Garnier Population

Geography

(1965)

J.I. Clarke (iv) Geography of
Population

(1966)

Select the correct answer from codes

given below :

@ b @ @
A @ @) (v @
@ @ O @) @)
© @ @G O 6@
» G @G @ @

TBC : AKG-AP(CC)GEOG.-2018—A
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32. What does rectangular/Barrel shape

33.

of population pyramid indicate ?
(A) Young population

(B) High mortality

tC) Population ageing

(D) Low fertility

What does demographic dividend

refer to ?

(A) Rapid economic growth induced

by low fertility

(B) Rapid economic growth induced

by low dependency ratios

(C) Rapid economic growth induced

by low mortality

(D) Rapid economic growth induced

by high in-migration
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34.

35.

(B)

What does sampling error indicate ?
(A) Coverage error

Contént error

(C) Difference between population

and sample mean

(D) Variation in sample mean due

to sampling strategy

What are the bases of agro-climatic
regionalisation pro'posed by the

Planning Commission' of India ?

(A) - Relief

(B) Rainfall, temperature and

Acropped area

()

Vegetation, soil and land use

(D) Relief, land use and net sown

area

TBC : AKG-AP(CC)GEOG.-2018—A

18

36.

37.

“Introducing Physical Geography” ?4

The command area development
programme (CADP) was first
time introduced in which five year

plan ?

(A) Fifth Five Year Plan
(B) Fourth Five Year Plaﬁ
(C) Sixth Five Year Plan
D) Firsf Five Year Plan

Who is the author of the book

(A) A. Holmes

(B) Alan Strahler and Arthur

Strahler
(C) W.D. Thornbury

(D) None of the above
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38. Which of the following processes

39.

40.

helps in the formation of Rift

Valley ?

(A) Seismism
(B) Faulting
(C) Folding
(D) Volcanism

Which of the following landforms is
different from other three on the

mode of origin ?
(A) Fold |
(B) Anticline
(C) Nappes

(D) Rift valley

Which of the following oceans are

connected by Panama Canal ? |
(A) Pacific and Atlantic

(B) Atlantic and Indian Ocean
(C) Indian Ocean vand Pacific

(D) Atlantic and Nprth Ocean

TBC : AKG-AP(CC)GEOG.-2018—A

20

41.

42.

43.

The Chilka lake region lies in

between the deltas of :

(A) Mahanadi and Godavari
(B) Krishna and Kaveri

(C) Godavari and Krishna
(D) Ganga- and Mahanadi

The Bodo language is spoken in

which of the following states ?
(A) Mizoram

(B) Assam

(C) Manipﬁr

(D) Arunachal Pradesh

The Savanna type of climate is

characterized by :

(A) Humid summers and humid
winters |

(B) Humid summers and dry
winters

(C) Humid winters and dry
summers

(D) Humid throughout the year
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38. frfafaa # ¥ et wfskn | fayw

39.

- 40.

(o) =t 1 frafor gem 2
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(A) w9lid 3R sEwifes
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TBC : AKG-AP(CC)GEOG.-2018—A

(C) To= weErFR 3R w9m< HeRTR

(D)azaiﬁ?aﬁaﬁtﬁ'ﬁm
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41.

42.

43.

ek giter &m0 Foreh i sferd

o= 7?7

(A) HWeMal 3R e

(B) FvM 3 HE

(C) TigEd SR s

D) T R
aﬁ%ﬁmﬁmmﬁ@?ﬁaﬁﬁ% ?
(A) faSiRH

(B) ™

@ g

(D) 3TEUTEA USRI

AT TR H1 STy H FT A
g2

(A) o7 e SR 3T ¥iaekTel
(B) 3T TitHehIal 3R Y6 TfceRral

(C) o Yiaepa iR yor disenral

(D) TR ame

P.T.0x



44. Which of the following is situated at

45.

46.

Agra ?

(A) Paratroopers Training College
(B) National Police Academy

(C) Central Tractor Organizatibn
(D) Air Fofce Flying Coliege

The most air masses that cause
winter rains in the north-western

region of India are part of :
(A) Trade winds

(B) Westerlies

(C) Local disturbances

(D) Retreating monsoons

What do you mean 'by the term

density of population of a country ?

(A) The average number of people

living in one hectare
(B) The average number of birth

per annum

(C) The average number of people

living in one square kilometre

(D) None of the above

TBC : AKG-AP(CC)GEOG.-2018—A
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48.

'47. The Farakka Barrage has been

constructed on the river :

(A) Hugli

(B) Padmini

(C) Bhagirathi

(D) Brahmaputra

Which is not assumption in Von
Thunen “Theory of Agricultural

location” ?
(A) Farmers act as economic men

(B) Agriculture area 1is a

homogenous

(C) City is the sole market

(D) Labour cost is unequal over the

plain




44. ‘ﬁmﬁf@aﬁﬁaﬁ?mﬁﬁ%% ?

45.

46.

TBC : AKG-AP(CC)GEOG.-2018—A

(A) BR-dfw wfoao weifaeres
(B) T S s

(C) H=Ta R WA

(D) TN ISH HeEEE

uRT @ sed-ufeer wm # B A

- gliaeRTeAE oo & fou STt sfaehay

Jaq g fREe Wi ® 27
(A)é@(m)m
(B) Uge gad

(C) T =y

(D) 9Y=IHA AFAYA

29 H SHEEH ¥ § MTRT T Y
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(A) TF BRI H WY o/ Aril i
Csirerolieseesi

(B) ufdad =9 i f9d &

(©) T o fede § WA o
T A e
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47. ®EERT Sy feE A<t 9 oSA™E Tl

48.

e ?
(A) el

(B) 9gfHAT

(C) rTRen

(D) w=TgA

T AT “wfa T & faer” #

frafafea § 9 ®9E TF gEUR

T % ?

(A) FUH Tk SUE T S wT A

?ﬂﬁ%ﬁ%
(B) Ff &% Towq T
(C) T THATH 9N ®

(D) Aoigll W Hod §Had § W ¥

P.T.O.



49.

(1)

(2)

3)

4)

Match the columns of glaciers and

states and select the correct answer

from the codes given below :

List-I List-II

Zemu glacier () Jammu &
Kashmir

Barasigri (@i) Uttarakhand

Milam glaciers (@ii) Himachal

Pradesh
Nubra glaciers (i) Sikkim
Codes :

1 @ @ @
@A) G G G G
@) O G G G
© G G G 6
D G G 6 .(ii) .

TBC : AKG-AP(CC)GEOG.-2018—A
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50.

51.

52.

Which of the following is not a

paradigm in geography ?

(A) Spatial organization

- (B) Areal differentiation

(C) Quantitative revolution

(D) Environmental determinism-

Who advanced The Subsidence
Theory of origin of Atolls and

Barrier Reef ?

(A) Murray

(B) Semper

(C) Darwin-Dana

(D) None of the above

A group of interrelated food chains

is known as :
(A) Autotrough
(B) Heterotrough
(C) Food web

(D) None of the above




49.

(1)
(2)
3)

(4)

g @R ge-II | fait m} FHT:
femmafecli i T ) gifer #Afr of
e 5 7 2 ) UgEd WA TW
Hf

eI Te-11

Sy fere () =g siR R

EIRUESHcl () SHTETS
e feuast (tip) femrad wew
REIRELEE (iv) fafwsd
wHe

O @ @ @
A @ '(iii) (v) @)
®) O G G G
© Gv) G G 6
D) G G G Gi)

TBC : AKG-AP(CC)GEOG.-2018—A
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50.

51.

52.

frafafen 4 § F T e w1 ke
& w2

(A) Trfier deeA

(B) %ﬁﬁrﬁaﬁm

(C) wifsrs gAY

(D) wafevita frafaag

T 3R SR 3% & It &1 Sedae
o fewm gfomfea fear ?

A) T

(B‘) TR

(C) sifdA-gmr

(D) 3waa § ¥ +E T

Wwﬁsmmﬁrﬁa%‘@w

I FF1 HE ST T 2
(A) ISt
(B) oo
(C) @& WA

(D) S § A g &
P.T.O.



53. The shallow stretch of ocean floor

54.

55.

adjoining land is known as :
(A) Deep-sea plain

(B) Continental slope

(C) Continental shelf

(D) Continental plain

Isohalines are the lines showing the

distribution of :

(A) Salinity

(B) Pressure
(C) Temperature
(D) Cloudiness

Which century is described as ‘The

Golden Age of Oceanography’ ?
(A) Eighteenth century

(B) Sixteenth century

(C) Fifteenth century

(D) Nineteenth century

TBC : AKG-AP(CC)GEOG.-2018—A

26

56.

57.

58.

(S

The cold Labrador Current, in the
area of the Grand Banks, meet

with :

(A) The warm Kuroshino current
(B) The warm Brazil current

(C) The Gulf stream

(D) The cold California current
‘Meteorologica’ was written by :
(A) Aristotle

(B) Plato

(C) Halley

(D) W.M. Davié

Collision-coalescence theory was

propounded to explain :
(A) Tornado

(B) Precipitation

(C) Clouds

(D) Cyclones



53.

54.

55.

JH + FHIT HEER &1 qelt 1 I
FAE ] el & 7

(A) TRU-9Ys 9Hdd
(B) HeEEHE @
(C) HeIgrdg Lt
(D) W%@Tﬂ"qlwaa

Wﬁ(wﬁm),'mm
! T el Tt § 2

(A) ATl
(B) <&
(C) a9IH=

(D) A==

forg vt ! ‘wgfaa & @t g’ |

% ®9 ¥ aftlq & s & 2
(A) TSRedl yam=
(B) Wl v
(C) dsedi vl
(D) S=igst vt

TBC : AKG-AP(CC)GEOG.-2018—A

56.

57.

58.

-4

m%%%ﬁﬁ,ﬁﬁammﬁm@
oot & ?

(A) s A o

(B) 3o aﬁﬁa T

(C) @rEt (Tew) W

(D) ¥ Hefwifa um
‘fafedrieifserr’ fras g fomar =
o1 ?

(A) TR=RA

(B) @&

(C) it
(D) s=Yg.um. Sfaw
TFR-goe fag= faas! e 3

&% fau wfawfcd feear @ o 2

(A) @S (FFeE)
(B) o
(C) A9

(D) =shard

P.T.O.



59.

60.

61.

The Thermal Contraction Theory is

associated with the name of :
(A) Edward Suess

(B) Kober

(C) Jeffereys

(D) R.A. Daly

Lapies represent :

(A) Erosional landform

(B) Depositional landform
(C) Volcanic landform E
(D) Valley

To reef, the

conserve coral

Government of India declared one

of the following as Marine Park :
(A) Gulf of Mannar

(B) Andaman Islands

(C) Gulf of Kutch

(D) Lakshadweep Islands

TBC : AKG-AP(CC)GEOG.-2018—A

62.

63.

28

“Kyoto Protocol” an agreement
signed by various countries, is

associated with :

(A) International Trade

(B) Deep sea oil and mineral

exploration

Clean environment and climate

(C)

change
(D)

Food security

Which state of India is known as

“Tiger state” ?

(A) Gujarat

(B) West Bengal

(C) Madhyg Pradesh

(D) Assam



]

59. T dehad fagra fvEes 8 & Wy .
) 62. wEa @ W gw wwmeRa whu ‘FR

e T ?
(A) TEaE qUH | TR’ frad TEtaT T 2
(B) IR 51 el wrm
(C) SHIS
(D) HART. =Tl (B) TR W # Gt A Wit s
60. U T § ? - o
(A) STUE= YfFEy
(B) S 81 Sen 4fgwy (D) @=Ter graa
«© ah | 63. WRd & fFE T F ‘A T’ wE
(D) =
S g ?
61. YRd TR A &RA UF & GI&0 &
forq Ffafeaa 4 4 68 © 99 9= iy
% ®7 H uiftm feam & 2
(A) AR &l @St (B) ufe=wt amer
(B) UM EI9YE
(C) 929 wew
(C) =3 &l WEl
(D) @LEY &9 998 (D) =184

TBC : AKG-AP(CC)GEOG.-2018—A 29 P.T.O.



64.

65.

Which‘of the following is a

biodegradable waste ?
(A) Plastic.

(B) Polythene

(C) Glass

(D) None of the above

Which of the following Indian states/
UT has the maximum percentage of

mangrove cover in the country ?
(A) Gujarat

(B) West Bengal

(C) Orissa

(D) Andaman & Nicobar

TBC : AKG-AP(CC)GEOG.-2018—A

30

&

66. Green Revolution made country self-

sufficient in foodgrain production but

had some fallouts.
Consider the following statements :

(1) It was successful in case of

wheat, but not in case of pulses.
(2) Brought inter-state disparities.
(3) Helped in restoring soil fertility.

(4) Reduced water table in some

states.

Select the correct statements from

the giveg code :
(A) 1, 2 and 4
(B) 2, 3 and 4
(C) 2 and 4

(D) All are correct



.4

64.

65.

frafafeg § @ 1 & 99 19y

ST R ?

(A) w=ifEs

(B) uffeeiq
(C) +1=
D) swWea # ¥ HIg &l

fefafeg @ 9 fog aTda Tsa/e<

fEa gew d HUe &3 & sifysRan |

.uﬁmam%?

(A) TSHIG
(B) ufy=mdi s
(C) 3=

(D) 3ieqM AR frerEr

TBC : AKG-AP(CC)GEOG.-2018—A
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66. @ FA I W W @WH NI B

S H WA o R feeg sad
FHS SHRHAAE o |

mmaﬁmﬁaﬂaﬂm:

(1) %ﬁéa’»‘wéﬁmmm
qEl % "Ee HOTE @

@) T8 s e s T

(3) 3TT9 W h1 IaThdl AT9H o H
weraar e |

(4) TOY H/D U H A & A § HAl
Tt |

I 3 T H2 w1 9@ =R EWE W

(A) 1, 2 2R 4

(B) 2, 3 3iR 4

(C) 2 3R 4

(D) @eft ¥t ¥

P.T.O.



67. Bio-gas is primarily a mixture of :

68.

69.

(A) Methane and carbon dioxide
(B) Mgthane and oxygen
(C) Propane and carbon dioxide
(D) Propane and oxygen

Cotton requires :

(A) High temperature, light rainfall

(B) Low temperature, light rainfall
(C) High temperature, high rainfall

D) Léw temperature, high rainfall

Which among the following does not
belong to India’s major large scale

industries ?

(A) Cotton textile industry
A(B) Iron and steel industfy
(C) Jute industry

(D) Khadi and village industry

TBC : AKG-AP(CC)GEOG.-2018—A
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e ?

70. Which of the following soil is the

71.

best for plant growth ?
(A) Sandy soil

(B) Clay

(C)I Gravel

(D) Loamy soil
Consider the following statements :

(1)

There are no east flowing rivers

in Kerala.

(2)

There are no west flowing

rivers in Madhya Pradesh.

. Which of the statements givén above

is/are correct ?

(A) 1 only
(B) 2 only
(C) Both 1 and 2

(D) Neither 1 nor 2



67. - gea: feae faso & 2

68.

69.

() T ik wE T
(B) #Hi&q sl stfedtsA

(C) W 3R #EA SRAFES
(D) WF AR AT

HUE hl ETIHA A T

(A) =T qOHE AR TR O
B) f= avE iR gowt Tut
(C):«ﬁaamm‘aﬂzaﬁ%‘aqf
D) =1 aEE SR s Tl
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Yo e o T § 2

(A) HUNE TSN
(B) @i 3R & 3=
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D) ®rE iR TR

TBC : AKG-AP(CC)GEOG.-2018—A
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70.

| 71

fretfafen § ¥ fFa wR 1 a1 TRy

s & o T o ¥ 2
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B) 7 (fae=t fagh)

(C) =l

D) gre Azt

frefafen ot W fER SR
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D) Ad13ITE2
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72. In which one of the following places

73.

is the Shompen tribe found ?
(A) Nilgiri Hills

(B) Nicobar Islands

(C) Spiti Valley

(D) Lakshadweep islands

Which one of the following is the
appropriate reason for considering
the Gondwana rocks as most

important of rock systems of

India ?

(A) More than 90% of limestone
reserves of India are found in

them.

(B) More than 90% of India’s coal

reserves are found in them.

(C) More than 90% of fertile black
cotton soils are spread over

them.

(D) None of the reasons given above

is appropriate in this context.

TBC : AKG-AP(CC)GEOG.-2018—A

34

74. Which

among the following

statements are not correct ?

(1) Tropical Cyclones are a part of

Secondary Circulation.

(2) Thunderstorms are not part of

Tertiary Circulation.

Which of the statements given above

is/are correct ?
(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2
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TBC : AKG-AP(CC)GEOG.-2018—A
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¥ 72
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Suded wedl # F IS FUT wE
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(A) ®Fe 1
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© 1 ¥R 23

M Ad13AE2
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75.

(1)

(2)

3)

4)

Which among the following is/are

correctly matched ?
Regions

Indian Ocean
Atlantic

Western Pacific and
South China Sea
Western Australia
Codes :

(A) Only 1

(B) Only 1 and.2
(C) Only 3 and 4

M) 1, 2, 3 and 4

Name

Cyclones

Hurricanes

Typhoons

¢

Willy-Willy

TBC : AKG-AP(CC)GEOG.-2018—A

36

L

76. Tropical cyclone over gldbe lies

11

between :

(A) 30°N and 30°S
(B) 60°N and 60°s
(C) 20°N and 20°S
(D) 25°N and 25°S

Which of the following is not one of

the characteristics of a hurricane ?
(A) Around 500 km in diameter

(B) Winds of 62 km/h and higher
(C) Forms over warm oceanic water

(D) Forms in continental tropicai air



75. Frafafea § ¥ =/ gm qafem

(1)

(2)

(3)

4)

~

¥E ?

&=

fag "RMIR

gfyeHt wend 37K

<faroft =i Tz

qfyegHt e

-~

(A) &ad 1

(B) aa1 1 3R 2

(C) waeT 3 3 4

D) 1, 2, 3 3R 4

T

forefi-faei

TBC : AKG-AP(CC)GEOG.-2018—A
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76.

77.

Io0T wHfeady Twam, Javesd H el
feorg B € 2

(A) 30‘;N 3R 30°S

(B) 60°N 3K 60°S

(C) 20°N 3R 20°S

(D) 25°N iR 25°S
Frafafed 8 @ 319 @, s (weism)
H1 Ao wE 72

(A) =g ey 500 feet
(B)Wﬁézﬁiﬁﬁﬁaﬁm

s1fegen

(C) IO HEEIE S & UL o991 &

(D) TGN 50 wicasdiy gar § 94T

€

P,



78. Which of the following conditions

is/are conducive for the formation of

tropical cyclones ?

(1) Large and continuous sﬁpply of

warm and moist air.

(2)

Large value of Coriolis force.

3)

atmosphere.

Select the correct answer using the

codes given below :
(A) 1 and 2 on}y
(B) 1 only

(C) 1 and 3 only

D) 1, 2 and 3

TBC : AKG-AP(CC)GEOG.-2018—A

Inflow of air at upper level of |

38

79.

80.

Nt
(X

What could be the main reason/
reasons of the formation of Aﬁ'ican

and Eurasian desert belt ?

(1) It is located in the sub-tropical

high pressure cells.

(2) It is under the influence of

warm ocean currents.

Which of the statements given above

is/afe correct in this context ?
(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

Which one of the following pairs is
not correctly matched ? (Dam/Lake

to River) ?

(A) Govind Sagar — Satluj
(B) Kolleru Lake — Krishna
(C) Ukai Reservoir — Tapi

(D) Wular Lake — Jhelum



el

78.

frafafea & @ 96 <wn/geng,
3I50] iy Tka™ o1 & folu agEs

®/E ?

(1) S 3iR 27 7 1 991 3R MR
FOE |

(2) =ifdfem o= &1 =L AFL

(8) TgHEA & HUI W W I H

3TRL &I A =8E |
= &Y T w2 T T =W RS W
g .
(A) I 1 3R 2
(B) #ee 1
(C) wad 1 3R 3

M) 1, 2 3R 3

TBC : AKG-AP(CC)GEOG.-2018—A
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' 80.

79. SAHIH AR TN = ATEIA UGl T4

FYF FN FHRO A GHA/TFA o/e 7

(1) 9% 3drou S=a < el # M
£

(2) IE IV HEMEIEE ¥R & guE
H =T T

za wed # sudw wud H HEAE/E
@ v/ 2
(A) FId 1
(B) &ad 2

(C) 1 3R 2 2=

D) AL SR A2

Prfafea 3§ ¥ =W = ¥ gifea
& % 2 (i ¥ )
(A) Tfe AR — Hdels
(B) #lei® @il — FEm
(C) IR SaeEd —

(D) IR #oA — Hed

P.T.O.



81. Around which century did Buddhist

Scholar Chandragomin write about

the Audumbaras ?
(A) 2pd century
(B) 3rd century
(C) 5th century

(D) 7th century

82. In which district of H.P. did ‘Mohna’

folk song originate ?
(A) Shimla
(B) Bilaspur
(C) Kangra

(D) Chamba

83. In which District of H.P. is Mahakali

lake ?

(A) Kinnaur
(B) Sirmaur
(C) Shimla

(D) Chamba
TBC : AKG-AP(CC)GEOG.-2018—A

40

84. Against which raja of Kangra

85.

86.

(Nagarkot) did Muhammad-bin-
Tughluqg undertake a campaign ?

(A) Prithvi Chand
(B) Rup Chand
(C) Alam Chand
(D) Megh Chand

Which raja of Bushahr princely state
helped the cause of 1857 wai of
Independence by withholding his
tribute and supplies to the British ?

(A) Ram Singh
(B) Shamsher Singh
(C) Vijay Singh
(D) Udai Singh

Which of the following festivals is

celebrated only in Kannaur region

of HP, 7

(A) Khojala
(B) Bhunda
(C) Phulech

(D) Pastoru
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81. g fagM st 3 fore w5 & o

82.

g & R § foren ?

(A) T &t

B) dredl w&t

(C) di=rell W

(D) wrad =

‘Higun’ @ a1 Sgud fau. & few
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(A) TRrem

(B) foemage

(C) TS

D) =

83. Wsﬁa%.u.aﬁﬁsﬁﬁaﬁ% ?

(A) iR

(B) fowr
(C) femem

(D) <=

TBC : AKG-AP(CC)GEOG.-2018—A

41

84. Yeng foq Trord A FHMS (FRSR)

85.

86.

& forq T & favg sifvam ser 2

(A) gt =<
(B) €9 =<
(C) smem =<
D) A= °9=
RIe femaa & fFg 1o 3 1857 § i
T F R TE Ah HL Fa=a 9aH
H areE e ?
(A) T fog
(B) R fog
(C) fasm fog
D) =7 fag
Preffes & ¥ W e Saw
ey & fF=iR &3 d & S
g 2
(A) dirsten
(B) Huel
(C) e
(D) w&ars
P.T.O.



87. Which mountain pass joins Spiti to

Ladakh ?
(A) Kunzam
(B) Kangla
(C) Hamta

(D) Kugti

88. To which princely state did painters

Manaku and Nainsukh belong ?

(A) Guler
(B) Kangra s
(C) Chamba

(D) Bilaspur

89. Which of the following belongs to the

Scheduled Tribes in H.P. ?

(A) Khatik

(B) Lamba

(C) Sansi

(D) Passi
TBC : AKG-AP(CC)GEOG.-2018—A
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N

90. What was the Consumer Price Index

91.

Numbers for the industrial workers
in H.P. during 2015-16 (Base : 2001

= 100) 7.
(A) 175
(B) 213
(C) 235
(D) 255

Gauri Lankesh who was shot dead
in Bengaluru on September 05,

2017 was a/an :
(A) Teacher
(B) Advocate
(C) Journalist

(D) Doctor
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e A g L ol R, Fe WM ¥
(D) foemEag
St of 2
89. frfafes d = f.v. # srgfaa vm-
wfa ¥ Ty W g ? : (A) STEATIH
A) TeIh
= (B) IRt
(B) <
. (C) TahKR
(C) ar=Et
(D) Tt (D) ThRI
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92. Who is the Chairman of Hurriyat

93.

Conference of J&K ?

(A) Mirwaiz tImar Farooqg
(B) Yasin Malik

kC) Syed Ali Shah Geelani
(D) Bashir Ahmed Kalu

With which of the following

'

countries India has the longest

‘border ?

(A) China

(B) Bangladesh

(C) Pakistan

(D) Bhutan
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94.

95.
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Which one of the following has been
sentenced to death in the 1993

Mumbai serial bomb blast case ?°
(A) Taher Merchant

(B) Abﬁ Salem

(C) Karimullah Khan

D) | Riyaz Siddiqui

Which Indian city has been
accorded the status of heritage
city by UNESCO recently (upto

Sept. 17) ?

(A) Pune

(B) Shimla

(C) Ahmedabad

(D) Bhopal



-

92. v iR wvER # Fw wiww @ | 94 1993 B I Wigw oW e w9 4

Prefofad § @ fvd W = T @

ATY FA T ? _.
| L. R 2
(A) TRAES S HES
(A) wifex Hde
(B) amits i | |
(B) 7§ WaH

(C) ¥ oreht e fremh

(C) wiHeen @™

(D) =R 3TEWT HTe], () foay fode

93. Fretfafaa § ¥ fFg 3w & @y wra | 0% Wﬁﬁmm?ﬁamaﬁtﬁ@ﬁ

F FEQ Tl WH g ? B SRS e T R R R

(faa=x 17 @%) ?
A) = e
(A) ot
B) SARYT
e (B) Teren
G e - (©) TEEEE
D) A | | (D) sraTe
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96. On what ground an online petition

87

TBC : AKG-AP(CC)GEOG.-2018—A

has been filed with the Nobel Prize

Committee to take back the Nobel

Prize given to Supreme Leader of

Myanmar Ang San Suu Kyi ?
(A) for her anti-India policies

(B) for her inability to check the
rising prices

(C) for her inability to stop violence
being inflicted on the Rohingya

Muslims ’

for destro‘ying democracy in

(D)

Myanmar

What was the venue of G-20 Summit

held in July 2017 ?

(A) Rome

(B) Zurich

(C) Hamburg

(D) Berlin
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98.

99.

100.

=

In which island of Japan the entry

of women is banned ?
(A) Shikoku

(B) Kyushu

(C) Honshu

(D) Okinoshima

Which U.S. state faced fierce

hurricane around the last week of

August 2017 ?

(A) Texas

. (B) Florida

(C) Ohio
(D) Kansas

Which country is hosting the
2019 Commonwealth Weightlifting

Championship 2
(A) India

(B) Canada
(C) Australia

(D) Pakistan



96.‘mwmm®aﬁa@mﬁmﬁ

97.
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Aod R afafa ¥ 19w T £ e

RIMR ] Faled a1 ST 96 G H1 H

@ 1 A9e R # a9y & foen

L

(A) SEF! wra faidft AAifEdl & o

(B) =dl Ml 1 A% A ST
fowam # fau

(C) e Hiew & wfa fémn =1 A
q suwt fawam & fou

(D) =R H T w T
fera

qaﬁzowﬁgqaﬁ—zoﬁrmm

w1 foeT wo@ Wl o 2

(A) ™

B) =
(C) BHer

(D) =i
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98.

99,

100.

mﬁaﬁmgﬁqmnﬁwe’ﬁ%m
R yfgas & 2

(A) T

(B) I

(C) =iy
D) hferAeTE

ST 2017 % A9 Y€ & e
WU & fbg TS B 90 JHE F
HAT HAT T 2

(A) 2FaTg
(B) GHAIRET
(C) nfexh
D) w94

T 2019 ¥ g1 a1l sigaaey Jefafter
<Al 1 A BE W W @
%2

(A) W@
(B) =
(C) smefern
(D) drfehE

P.T.O.



